3B,

3, Answer the following questions about BeC,D,(s) and its hydrate.

(8) Calculate the mass percent of carbon in the hydrated form of the solid that has the formula BeC,0, - 3 H,0

(t) When heated to 220.°C, BeC;0, -3 H;00s) dehrydrates completely s represented below.
BeC,0, 3 Hy0(r) — BeC;0,(s)+3 HyClg)

16321 g of BeC,0,+3 H,0(s) is heated 10 220.°C, calculate
(i) the mass of BeC,0,(s) formed, and, |
(i) the volume of the H,O{g) rd:lud.nﬂmﬂmﬂﬂ.‘ﬂmdmmm- )
(€) A 0.345 g ssmple of anhydrous BeC40,, which contzins an inert inspurity, was dissolved in sufficient water

to produce [00. mL of solation. A 20.0 mL portion of the solution was titrated with PDJuD‘ﬁ!q].m
mmfummmmuuhnm.

: : E 1
16 H"'_l{q}-i-lﬁoﬂnq]d-! E,Bf‘{uq]-rlh{u"{q]+ WEO;{,;HE H,0(]).
The volume of 0.0150 M m‘{q}mmmmemnmmw 17.80 mL.
mmmm.mhhmﬁmm -
(i) mmmummwmmmm#mmﬁMﬁmmgm

reacted.
= m‘l-l:q} . ) "Jﬁ',ﬁl".-r
* GO (ag) '
(iii) Calculate the total number of moles of C,0, (ag) that were present in the 100. mL of prepared
solution. ;

(iv) Calculate the mass percent of BeC;O,(s) in the impure 0.345 g sample.
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